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BERE2E NMBHEER
BT - 8RB BRAERE - ERER
BH  BEXE
ZE@H 0m
FHERS BERREER (FH - /\RiB)
FHEE BIERERE
FHER BIREE
B BIEHRHE




SHBERNRE SHeFEEFRERBMATHMI T

% R R - BRI B % B B ff & ) m o=
ERNEE 22,781,713
KERFEHEER 22,781,713
KERE 22,781,713
KEHRAE 22,621,713
REER 232,603
1-1 ST 1.00 232, 603 232, 603
=
KEHRE 6, 832, 000
1-2 BHER 1.00 6, 832, 000 6, 832, 000
=
AT 15, 391, 210
1-3 S HrEER 1.00 15,391, 210 15,391, 210
=
& - |E 165, 900
1-4 HHHE 1.00 96, 600 96, 600
=]
1-5 &B|mE 1.00 69, 300 69, 300
=]
E#EEE 160, 000
R 160, 000
1-6 XBRER 1.00 160, 000 160, 000
=
E R 6, 600, 269




SHEERNRE SHeFEEFRERBMATHMI T

% R R - BARSTiE BfL % 8 B ® # m o=
Huo 6, 600, 269
Hu o 6, 600, 269
Huo 6, 600, 269
AT - BE 920, 716
2-1 f#fr - R 1.00 920, 716 920, 716
=
HERAEEDOHIE 729,139
2-2 HHRAEBOMIE 1.00 729,139 729,139
=
BROEYELED 2,202,002
2-3 BROLEYFEED 1.00 2,202,002 2,202,002
=
MEEER 2,748,412
2-4 |ESZER 1.00 2,748,412 2,748,412
=




BHEERER SH6EEEE R BMRAERH ST

% g - AKSTiE Bifr B 2 B i & 8 W =
EEAEE 22,781,713
HEHE 7,390,503 x 68.3% — 9,426 5,038, 287
AEEEE 22,781,713 + 5,038, 287 27,820, 000
BB E TS 27,820, 000
BRI 6,534,920 + 65,349 6, 600, 269
BEEAGE 6,534,920
BEiEEE 65, 349
T DR 6,534,920 x 53.85% ( 35% + (1 — 35%) ) 3,519,054
BRI 6,600,269 + 3,519,054 10, 119, 323
—RERESE 10,119,323 x 53.85% ( 35% + (1 — 35%) ) — 8,578 5,440, 677
KBS 10,119,323 + 5,440, 677 15, 560, 000
B EHEAE 27,820,000 + 15,560, 000 43, 380, 000
HETREALE 43,380,000 x 10.00% 4,338,000
FEIZRE 47,718,000




Wil

THOFEFFREBMBMATHANIN

&= 11
& RAEERE 14y
2 b g - BIRTE = v = B ® 5 W = " =
BIEFEHEM
A 1.50 54, 600. 00 81,900
RIS HRER
A 2.00 47,100. 00 94, 200
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
M =LY
% 1.00 230, 300. 00 2,303
& B 1E%HeH - 1.00K 232, 603. 00 232, 603
&5 :1-2
& HEER 14y
2 b g - BIRTE = v = B ® 5 W = " =
Bl S H A
A 170. 00 36, 900. 00 6, 273, 000
REE 5S4 kY 2L
B 86. 00 6, 500. 00 559,000 6. 00H / 8H
& B 1YE%HeH - 1.00K 6, 832, 000. 00 6, 832, 000
5 :1-3
B oHTEER 14y
2 b g - BIRTE = v = B ® 5 W = " =
SRR
= 1.00 15, 391, 210. 00 15, 391, 210
& B 1E%HeH 1,00 15, 391, 210. 00 15, 391, 210




Wil

THOFEFFREBMBMATHANIN

&5 :1-4
¥ BATHE HEED
2 b g - BIRTE = v = B Ol ® % W = " =
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 0.50 47,100. 00 23, 550
Bl S H A
A 0.50 36, 900. 00 18, 450
& Hi 1YEZHEH - 1.00[E 96, 600. 00 96, 600
&5 :1-5
£ EW|E HEED)
2 b g - BIRTE = v = B Ol ® % W = " =
BIEFEHEM
A 0.50 54, 600. 00 217,300
RIS HRER
A 0.50 47,100. 00 23, 550
Bl S H A
A 0.50 36, 900. 00 18, 450
& Hi 1YEZHER - 1.00[E 69, 300. 00 69, 300
&5 :1-6
2% EBHRRA 1LY
2 b g - BIRTE = v = B Ol ® 5 W = " =
EBHRERERE
= 1.00 160, 000. 00 160, 000
& Hi 1E%HeH 1,00 160, 000. 00 160, 000




Wil

THOFEFFREBMBMATHANIN

&5 :2-1
£F5 B BR 14y
2 b g - BIRTE = v = BHO(f ) # " =
FEHRAR (F%ET)
A 2.00 64, 800. 00 129, 600
AR (A)
A 2.00 57, 000. 00 114, 000
HEm (B)
A 5.00 47, 200. 00 236, 000
AR (C)
A 6. 00 38, 400. 00 230, 400
&
A 6. 00 33, 600. 00 201, 600
EHERARE FHEEDY
% 1.00 911, 600. 00 9,116
& B 1E%HeH - 1.00K 920, 716. 00 920, 716
&5 :2-2
£ BBRAEBEDOHE 14y
2 b g - BIRTE = v = BHO(f ) # " =
FEHRAR (F%ET)
A 2. 40 64, 800. 00 155, 520
HEm (B)
A 12.00 47, 200. 00 566, 400
EHERARE FHEEDY
% 1.00 721,920. 00 7,219
& Hi 1YE%HeH - 1.00K 729, 139. 00 729, 139




Wil

THOFEFFREBMBMATHANIN

&5 :2-3
M BEROLEYELD 14y
2 b g - BIRTE = v = BHO(f ) # " =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 5.00 57, 000. 00 285, 000
HEm (B)
A 16. 00 47, 200. 00 755, 200
AR (C)
A 28.00 38, 400. 00 1,075, 200
EHRARE FHEEDY
% 1.00 2,180, 200. 00 21,802
& B 1E%HeH - 1.00K 2,202,002. 00 2,202,002
&5 :2-4
2 MESERK 14y
2 b g - BIRTE = v = BHO(f ) # " =
FEHRAR (F%ET)
A 1.20 64, 800. 00 71, 760
HEm (B)
A 23.90 47, 200. 00 1,128, 080
g
A 45.10 33, 600. 00 1,515, 360
EHERARE FHEEDY
% 1.00 2,721, 200. 00 217,212
& Hi 1YE%HeH - 1.00K 2,748, 412.00 2,748,412




